
AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2012
CLASS : V

Time : 2 Hours / a]Ì̂  f 2 H³Oôç Full Marks / ]ÇPö X¶‘ö» / å]ç»Oô X¶‘öÌ[ý f (25+25+25+25)=100

General Knowledge / açWýç»S pûçX / açWýç»Ì[ýS pûçX

1. Which part of the human body has two sense organs ?
]çX¾ åVc÷» åEõçXä$Oôç %eGTö VÇ$Oôç %XÇ\Éö×Tö %eG %çä$K÷ ?
]çX[ýãVãc÷Ì[ý åEõçX %eãG VÇ×»Oô %XÇ\Éö×Tö %eG %çä»K÷ ?
(a) Nose (b) Ear (c) Eye (d) Hair

XçEõ EõçS $JôEÇõ / æJôçF $JÇô×_ / JÇô_

2. The most common infection among men is ...............
]çXÇc÷» ]çLTö a[ýïç×WýEõ aeyÔ]X åc÷ç¾ç å[ý]ç»×[ýWý c÷'_ ........................*
]çX[ýãVãc÷ a[ý»Jôç+ãTö å[ý`Ý aeyÔç×]Tö c÷CÌ̂ ç åÌ[ýçG .....................*
(a) Measles (b) Small-pox (c) Common-cold (d) None of these

c÷ç] [ýaÜ™ö YçXÝ_Gç / a×VÛ A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

3. Name the Mughal Emperor who banned music.
åEõçXLX å]çG_ a¶ƒöçä$Oô aeGÝTö» CY»Tö ×XãbWýçpûç %çã»çY Eõ×»×$K÷_ ?
åEõçX å]çG_ a¶ƒöç»Oô aeGÝãTöÌ[ý =YÌ[ý ×XãbWýçpûç %çãÌ[ýçY EõãÌ[ýX ?
(a) Akbar (b) Babar (c) Jahangir (d) Aurangazeb

%çEõ[ý» [ýç[ý» Lçc÷ç†Ý» D»†ãL¾
%çEõ[ýÌ[ý [ýç[ýÌ[ý Lçc÷ç†ÝÌ[ý DÌ[ý†ãL[ý

4. Who of the following Indian cricket players led India in maximum number of ODI matches ?
\öç»TöÝÌ̂  ×yÔãEõ$Oô V_» åEõçXLX åF_Çê¾ãÌ̂  A×VXÝÌ̂ ç %çÜ™öLÛç×TöEõ ×yÔãEõ$OôTö a[ýïç×WýEõ %×WýXçÌ̂ Eõ±¼ö Eõ×»×$K÷_ ?
åEõçX \öçÌ[ýTöÝÌ̂  ×yÔãEõ»Oô åFã_çÌ̂ çQÍö a[ý»Jôç+ãTö å[ý`Ý AEõ×V[ýaÝÌ̂  %çÜ™öLÛç×TöEõ ]îç»åJô %×WýXçÌ̂ Eõ±¼ö EõãÌ[ýX ?
(a) M.S. Dhoni (b) Saurav Ganguli (c) Md. Azharuddin (d) Sachin Tendulkar

A]. A$K÷. åWýçXÝ åaì»\ö Gç†Ç_Ý å]çf %çLc÷ç» =×�X `×$JôX æ$Oô‰Çø_Eõç»
A]. Aa. åWýçXÝ åaìÌ[ý\ö Gç†Ç_Ý å]çf %çLc÷çÌ[ý =×�X `JôÝX æTö‰Çø_EõçÌ[ý

5. The dish 'Momo' comes from .................
"]ã]ç' åEõçX åV`ÝÌ̂  FçVî ?
"]ã]ç' FçVî×»OôÌ[ý =dY×wø åEõçX åVã` c÷Ì̂  ?
(a) China (b) Japan (c) Nepal (d) Tibet

$JôÝX LçYçX åXYç_ TöÝ[[ýTö

6. Greenwich Mean Time is the standard time of ................
"GÐÝ×X$Jô ]çX a]Ì̂ ' åEõçX åV`» ]çX a]Ì̂  ?
"GÐÝ×X»Jô ]çX a]Ì̂ ' åEõçX åVã`Ì[ý ]çX a]Ì̂  ?
(a) USA (b) UK (c) Russia (d) Denmark

%çã]×»Eõç / %çã]×Ì[ýEõç +eã_‰ø »ç×$K÷Ì̂ ç / Ì[ýç×`Ì̂ ç åQöX]çEïõ
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7. The Revolution without any violence and bloodshed was..................
åEõçX ×[ýYÀ¾Eõ ×c÷eaç %ç»Ó »NþYçTöc÷ÝX ×[ýYÀ¾ å[ýç_ç c÷Ì̂  ?
åEõçX ×[ýYÀã[ý ×c÷eaç A[ýe Ì[ýNþYçTö c÷Ì̂  Xç+ ?
(a) Russian Revolution (b) Glorious Revolution

»Ó$Jô ×[ýYÀ¾ åGì»¾]Ì̂  ×[ýYÀ¾
»Ì[ý»Ó` ×[ýYÀ[ý åGìÌ[ý[ý]Ì̂  ×[ýYÀ[ý

(c) French Revolution (d) Chinese Revolution
Zõ»ç$JôÝ ×[ýYÀ¾ $JôÝX ×[ýYÀ¾
ZõÌ[ýçaÝ ×[ýYÀ[ý »JôÝX ×[ýYÀ[ý

8. Find the odd one :
%×]_ä$Oôç [ýç×$Jô =×_C¾ç f
%×]_×»Oô å[ýäK XçC f
(a) One Night at the Call Centre (b) Five Point Someone

Eõ_ æJô³Oôç»»ô A»ç×Tö Zõç+[ý Y+³Oô K÷ç]C¾çX
Eõ_ æa³OôçãÌ[ý AEõ×»Oô Ì[ýçTö Zõç+[ý Y+³Oô »K÷ç]CÌ̂ çX

(c) God of Small Things (d) Revolution, 2020
GQö %¾ Øö‚_ ×UeJô 2020 ×[ýYÀ¾
GQö %Zõ Øö‚_ ×Uea 2020 ×[ýYÀ[ý

9. If 'Red Cross' signifies hospital then an inverted 'Red Triangle' signifies .............
^×V å»QöyÔä$Jô c÷×&ä$Oô_ [ýç ×$Jô×Eõdaç åa¾çEõ [ýÇLçÌ̂  åTöãÜ™ö Cã_ç$Oôç »Iøç ×Åy\ÉöãL ................................ [ýÇLçÌ̂ *
^×V "åÌ[ýQö yÔa' c÷ç&çTöç_ [ýç å]×QöãEõ_ åa[ýç [ýÇMõçÌ̂  Töã[ý =·Oôç _ç_ ×Åy\ÇöL .............................. [ýÇMõçÌ̂ *
(a) Protest (b) Justice (c) Family Planning (d) Danger

YÒ×Tö[ýçV XîçÌ̂ Y×»Ì̂ ç_ Y×»Eõ”Xç ×[ýYV
Y× Ì[ý[ýç Ì[ý Y×Ì[ýEõ”Xç

10. Which of the North-Eastern States did not have common High Court till 2011 ?
2011 $JôXê_ãEõ =wø» YÇ[ýïç‡û_» åEõçX »çLî» =¬Jô XîçÌ̂ ç_Ì̂  [ýçEõÝ »çLî» =ê]c÷TöÝÌ̂ ç =¬Jô XîçÌ̂ ç_Ì̂ » _GTö Xç×$K÷_ ?
2011 aX Y ï̂Ü™ö =wøÌ[ý-YÉã[ýïÌ[ý åEõçX Ì[ýçãLîÌ[ý =¬Jô XîçÌ̂ ç_Ì̂  [ýçEõÝ Ì[ýçLîm×_Ì[ý AEõ×ÅyTö =¬Jô XîçÌ̂ ç_ãÌ̂ Ì[ý açãU ×»K÷_ Xç ?
(a) Manipur (b) Mizoram (c) Sikkim (d) Tripura

]×SYÇ» ×]ãLç»ç] ×$K÷×Eõ] ×ÅyYÇ»ç
]×XYÇÌ[ý ×]ãLçÌ[ýç] ×a×Eõ] ×ÅyYÇÌ[ýç

11. 'Swift' car is a model of ..............
'Swift' GçQÍöÝ åEõçX åEõç¶YçXÝ» ?
'Swift' GçQÍöÝ åEõçX åEõç¶YçXÝÌ[ý ?
(a) Maruti (b) Tata (c) Nissan (d) Chevrolet

]ç»Ó×Tö / ]çÌ[ýÓ×Tö $Oôç$Oôç ×X`çX æ$K÷}ã_$$Oô / å`}ã_$Oô
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12. Dr. Bhupen Hazarika was not the recipient of which laurel in his lifetime ?
LÝ×¾Tö Eõç_Tö Qö0 \ÉöãYX c÷çL×»Eõç+ åEõçXä$Oôç YÇ»•õç» åYç¾ç Xç×$K÷_ ?
Qö0 \ÉöãYX c÷çL×Ì[ýEõçãEõ LÝ×[ýTö %[ýØšöçÌ̂  åEõçX aX½çãX a¶oöç×XTö EõÌ[ýç c÷CÌ̂ ç Xç+ ?
(a) Dada Saheb Phalke Award (b) Padma Bibhushan

VçVç$ Jôçãc÷[ý Zõç_ãEõ [ýg$Oôç Y²¿ ×[ý\ÉöbS
VçVç açãc÷[ý Zõç_ãEõ YÇÌ[ý•õçÌ[ý Y²¿×[ý\ÉöbS

(c) Assam Ratna (d) Bharat Ratna
%a] »±óö \öç»Tö »±óö
%çaç] Ì[ý±óö \öçÌ[ýTö Ì[ý±óö

13. 'Just Dance', a reality show, is telecast in ............
'Just Dance' A×$Oô ×»ãÌ̂ ×_×$Oô å`Ÿç åEõçX ×$Oô×\ö æ$JôãX_Tö a¶YÒJôç×»Tö c÷Ì̂  ?
'Just Dance' AEõ×»Oô ×Ì[ýãÌ̂ ×_×»Oô å`ç åEõçX ×»Oô×\ö »JôîçãXã_Ì[ý ?
(a) ZEE TV (b) Star Plus (c) SONY (d) Imagine

14. Sri Sankardev was born in the year .................
............................ $JôXTö ̀ ÒÝ]Ü™ö ̀ eEõ»ãV¾» LX½ c÷Ì̂ *
............................. aãX ̀ ÒÝ]Ü™ö ̀ eEõÌ[ýä»V[ý LX½ GÐc÷X EõäÌ[ýX*
(a) 1449 (b) 1549 (c) 1649 (d) 1749

15. 'Rashtriya Siksha Divas' is observed on the occasion of the birthday of .................
Eõç» LX½×VXTö »çrÑôÝÌ̂  ×`lùç ×V¾a Yç_X Eõ»ç c÷Ì̂  ?
"Ì[ýçrÑôÝÌ̂  ×`lùç ×V[ýa' Eõçc÷çÌ[ý LX½×VãX Yç_X EõÌ[ýç c÷Ì̂  ?
(a) S. Radhakrisnan (b) A.P.J. Abdul Kalam

A$K÷. »çWýçEÊõbÕX A.×Y.ãL %çŒÇ_ Eõç_ç]
Aa. Ì[ýçWýçEÊõbÕX

(c) Abul Kalam Azad (d) Raja Ram Mohan Roy
%ç[ýÇ_ Eõç_ç] %çLçV »çLç »ç] å]çc÷X »çÌ̂

Ì[ýçLç Ì[ýç] å]çc÷X Ì[ýçÌ̂

16. 'Tripoli' is the capital of
×ÅyãYç_Ý ........................ åV`» »çLWýçXÝ*
×ÅyãYç×_ ............................ åVã`Ì[ý Ì[ýçLWýçXÝ*
(a) Egypt (b) Libya (c) Syria (d) Saudi Arabia

×]$Jô» ×_×[ýÌ̂ ç ×$Jô×»Ì̂ ç æ$K÷ì×V %ç»[ý
×]`Ì[ý ×_×[ýÌ̂ ç ×a×Ì[ýÌ̂ ç åaì×V %çÌ[ý[ý

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(4)

17. The following picture is the logo of which financial institution ?
Tö_» YÒ×TöEõ ×$Jôc÷Ôä$Oôç åEõçX å[ýeEõ» ?
XÝä»JôÌ[ý YÒTöÝEõ ×»Jôc÷Ô×»Oô åEõçX [ýîçãáøÌ[ý ?

(a) S.B.I (b) Bank of Baroda (c) UCO (d) UBI
ærô$Oô å[ýeEõ %¾ +×‰øÌ̂ ç å[ýeEõ %¾ [ýå»çVç +=Eõ' å[ýeEõ +=Xç+ä$OôQö å[ýeEõ %¾ +×‰øÌ ç̂
æºOô»Oô [ýîçáø %Zõ +×‰øÌ̂ ç [ýîçáø %Zõ [ýãÌ[ýçVç +=ãEõç [ýîçáø»     +=Xç+ä»OôQö [ýîçáø %Zõ +×‰øÌ^ç

18. Quaga is an extinct species of ..............
"EÇõ¾çGç' ................................ YÒçSÝ» AEõ _ÇŠ YÒLç×Tö*
"EÇõÌ^çGç' ............................... YÒçSÝÌ[ý AEõ _ÇŠ YÒLç×Tö*
(a) Dog (b) Plain Zebra (c) Tiger (d) Cat

EÇõEÇõ» / EÇõEÇõÌ[ý åL[ýÐç [ýçH å]EÇõ»Ý / ×[ýQÍöç_

19. The Hindi Film Actress after whom the Best Film Award on National Integration is named .......
×c÷³VÝ å[ýç_$K÷×[ý» %×\öãXyÝ ̂ ç» Xç]Tö »çrÑôÝÌ^ $$Jô_×$Jôy YÇ»•õç»» LçTöÝÌ^ aec÷×Tö» CY»T æ`Òœö å[ýç_$K÷×[ý» Xç]çEõ»S Eõ»ç éc÷ä$K÷ ............*
×c÷³VÝ »K÷çÌ̂ ç»K÷×[ýÌ[ý %×\öãXyÝ ^çc÷çÌ[ý Xçã] Ì[ýçrÑôÝÌ̂  »Jô_×»Jôy YÇÌ[ý•õçãÌ[ýÌ[ý LçTöÝÌ̂  aec÷×TöÌ[ý =YÌ[ý æ`Òœö »K÷×[ý» Xç]çEõÌ[ýS EõÌ[ýç c÷Ì̂  .........*
(a) Waheeda Rahman (b) Nargis Dutt (c) Geeta Dutt (d) Saira Banoo

¾ç×c÷Vç »c÷]çX Xç×Gï$K÷ Vwø GÝTöç Vwø $K÷çÌ̂ »ç [ýçXÇ
CÌ̂ ç×c÷Vç Ì[ýc÷]çX Xç×Gïa Vwø açÌ̂ Ì[ýç [ýçXÇ

20. The dialect used by Saint Kabir in his poems (Duha) is ..............
Eõ[ýÝ»» åVçc÷çTö ×Eõ \öçbç» [ýî¾c÷ç» Eõ»ç éc÷×$K÷_ ?
Eõ[ýÝãÌ[ýÌ[ý åVçc÷çÌ̂  [ýî[ýc÷ÖTö \öçbç ...........................*
(a) Hindi (b) Bhojpuri (c) Urdu (d) None of these

×c÷³VÝ å\öçLYÇ»Ý / å\öçLYÇÌ[ýÝ =VÇÛ A$OôçC Xc÷Ì̂  / A×»OôC XÌ̂

21. The section 'classified' in a newspaper is meant for...................
[ýçTö×» EõçEõTöTö "zõç×$K÷Zõç+Qö' %e`ä$Oôçã¾ ×Eõ aÉ$JôçÌ̂  ?
ae[ýçVYäy 'classifed %e`×»Oô ×EõãaÌ[ý LXî ?
(a) Report (b) Article (c) Advertisement (d) Supplement

×»Y$OôÛ YÒ¾µù ×[ýpûçYX %×Tö×»Nþ F[ý»
×Ì[ýãYç»OôÛ YÒ[ýµù %×Tö×Ì[ýNþ F[ýÌ[ý

22. Which of these do not generate energy but are essential for the body ?
`»Ý»Tö ×Eõãc÷ =wøçY» aÊ×rô XEõã» %U$Jô %×Tö YÒãÌ̂ çLXÝÌ̂ ......................................
.......................... ̀ ×Nþ =dY~ EõãÌ[ý Xç ×EõÜ™Çö ]çX[ýãVãc÷Ì[ý LXî ×[ýã`b\öçã[ý =YEõçÌ[ýÝ*
(a) Fats (b) Protiens (c) Vitamins (d) Carbohydrates

$Jô×[ýï YÒ×$OôX ×\ö$Oôç×]X Eõç[ýïc÷ç+äQÎö$Oô
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23. The Indian state that has the highest number of airports is .................
\öç»Tö» åEõçXFX »çLîTö a[ýïç×WýEõ ×[ý]çX [ý³V» %çä$K÷ ?
\öçÌ[ýãTöÌ[ý åEõçX Ì[ýçãLî a[ý»Jôç+ãTö å[ý`Ý ×[ý]çX[ý³VÌ[ý %çä»K÷ ?
(a) Maharashtra (b) Madhya Pradesh (c) Kerala (d) Gujarat

]c÷ç»çrÑô ]Wýî YÒãV` ãEõ»ç_ç mL»ç$Oô
]c÷çÌ[ýçrÑô åEõÌ[ýç_ç mLÌ[ýç»Oô

24. Which place in India is known for its distinct French Culture ?
\öç»Tö» åEõçX Pöç+Tö Zõ»ç$JôÝ ae•Êõ×Tö ×[ýã`b\öçã[ý Y×»_×lùTö ?
\öçÌ[ýãTöÌ[ý åEõçX ØšöçX ZõÌ[ýçaÝ ae•Êõ×TöÌ[ý LXî ×[ýã`b \öçã[ý Y×Ì[ý×»JôTö ?
(a) Goa (b) Pondicherry (c) Calicut (d) Surat

åGç¾ç Y×‰øä$Jô»Ý Eõç×_EõOô JÇô»ç$Oô
åGçÌ̂ ç Y×‰øä»JôÌ[ýÝ aÇÌ[ýçTö

25. The inaugural match of the IPL-5 was held in the stadium of .................
IPL-5 » =ã¥çWýXÝ å]$Jô åEõçX ærô×QöÌ̂ ç]Tö %XÇ×rôTö c÷Ì̂  ?
IPL-5 AÌ[ý =ã¥çWýXÝ ]îç»Jô åEõçX æºOô×QöÌ̂ çã] %XÇ×rôTö c÷Ì̂  ?
(a) Chidambaram in Chennai (b) Wankhade in Mumbai

æ$Jô~ç+» ×$JôVç¶‘ö»] ]Ç¶‘öç+» ¾çXFçã»
æ»Jô~ç+ãÌ̂ Ì[ý ×»JôVç¶‘öÌ[ý] ]Ç¶‘öç+ãÌ Ì̂[ý CÌ̂ çXFçäQÍö

(c) Eden Gardens in Kolkata (d) Chinnaswami in Bangaluru
Eõ_EõçTöç» +ãQöX GçãQïöX [ýîçGç_Ç»Ó» ×$Jô~çØ‘öç]Ý
Eõ_EõçTöçÌ[ý +ãQöX GçãQïöX [ýç†ç_ÇÌ[ýÓÌ[ý ×»Jô~çØ‘öç]Ý

General English

Fill up the blank choosing the most appropriate option given below each question
(See the adjoining brackets for direction, if any)

26. We  spent ------------------ time arguing
(a) all (b) whole (c) the (d) the whole

27. This book  is  ------------------- about the  Chang Dynasty
(a) the all (b) the whole (c) whole (d) all

28. I'll  do  it  --------------------- it kills me.
(a) even (b) even if (c) though (d) let

29. The coffee was................... hot that I could not drink it.
(a) very (b) quite (c) so (d) too
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30. It costs .............................. much.
(a) too (b) so (c) very                (d) all of these  are correct

31. I won't be able to do it .............................. you help me.
(a) if (b) unless
(c) both a and b can be used (d) neither a nor b can be used

32. You take the good ones and I'll take  ..............................
(a) others (b) the others
(c) another (d) any of the above can be used

33. There were cars parked on ------------------ side of the road.
(a) Both (b) each (c) every (d) all

34. The bus is  .............................. crowded.
(a) too (b) very                (c) either can be used (d) None can be used

35. Let us begin .............................. the first poem.
(a) at (b) in (c) by (d) with

36. She looks tired, .............................. ( Add the tag question )
(a) does she ? (b) is she ? (c) doesn't she ? (d) isn't she?

37. I'm not late, .............................. ?  ( add  tag question)
(a) amn't I (b) am I (c) aren't I (d) is it

38. Did you tell her ? ............................... (pick up the  right short answer to this question)
(a) yes, I told (b) yes, I have. (c) yes, I do (d) yes, I did.

39. Has she gone ? ............................... (pick up the  right short answer to this question )
(a) No, she has. (b) yes, she has not. (c) yes, she is (d) yes, she has.

40. ------------ shops do not accept ATM cards.
(a) every (b) no (c) any (d) some

41. You should not take .............................. medicine without consulting your doctor first.
(a) any (b) some (c) no (d) all

42 Someone has picked his pocket. ( Begin the sentence with -  His pocket ........)
(a) His pocket was picked by someone (b) His pocket is picked by someone
(c) His pocket has been picked by someone (d) his pocket  picked someone.
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43 Post this letter  ( Begin the sentence with - Let .......... )
(a) Let us post this letter (b) Let him post this letter.
(c) Let this letter to post (d) Let this letter be posted.

44. I told him  .............................. do it.
(a) to not (b) don't (c) to  don't (d) not to

45 He asked me  .............................. going  to the  school function.
(a) that I was (b) if I was (c) both are correct (d) none is correct

46. My uncle is giving a party on the yearly celebration of his marriage. (substitute the bold
underline with one word.)
(a) Jubilee (b) birthday (c) centenary (d) anniversary

Find out the word that is opposite in meaning to the word written in italics in the following two sentences

47. Last month tomatoes were quite  cheap .
(a) available (b) costly (c) rare (d) inexpensive

48. This is a trivial matter.
(a) small (b) difficult (c) easy (d) important

Find out the word that is similar in meaning to the word written in italics in the following two sentences

49. We must eradicate corruption.
(a) protest (b) support (c) control (d) uproot

50. Man has to encounter many hardships in life.
(a) face (b) solve (c) overcome (d) oppose

General Maths / açWýç»S G×STö / açWýç»Ì[ýS G×STö
51. The symbol that can never be repeated is ...............

åEõ×TöÌ̂ çC YÇS»ç[ýÊ×wø åXçãc÷ç¾ç aeãEõTöä$Oôç .........................
EõFXC YÇXÌ[ýç[ýÊ×wø Xç c÷CÌ̂ ç aeãEõTö×»Oô c÷_ .......................
(a) I (b) V (c) X (d) M

52. Write the smallest five digit number using three digits with 5 in the thousand place.
5 Eõ c÷çLç»» H»» %eEõ ×c÷$JôçãY é_ ×Tö×X$Oôç %eEõ [ýî¾c÷ç» Eõ×» 5 $Oôç %eEõ ×[ý×`rô %ç$Oôç+TöêEõ a»Ó aeFîçä$Oôç ×Eõ c÷[ý ?
5 åEõ c÷çLçãÌ[ýÌ[ý HãÌ[ýÌ[ý [ý×aãÌ̂  å^ åEõçX ×TöX×»Oô aeFîç [ýî[ýc÷çÌ[ý EõãÌ[ý 5 %eEõ ×[ý×`rô a[ý»Jôç+ãTö æ»K÷ç»Oô aeFîç YçCÌ̂ ç ^çã[ý ?
(a) 55510 (b) 15001 (c) 05100 (d) 15000
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53. Choose the correct statement :
£ˆù =×Nþä$Oôç [ýç×$Jô =×_C¾ç f
£ˆù =wøÌ[ý×»Oô [ýç×c÷Ì[ý EõÌ[ý f
(a) 85868788 > 85868788 > 85888687 (b) 85878688 > 85868788 > 85888687
(c) 85868788 > 85888687 > 85878688 (d) 85888687 > 85878688 > 85868788

54. Place value and face value are always equal for ...........
........................... » ØšöçXÝÌ̂  ]çX %ç»Ó açe×FîEõ ]çX aVçÌ̂  a]çX*
........................... AÌ[ý ØšöçXÝÌ̂  ]çX A[ýe açe×FîEõ ]çX a[ýïVç a]çX*
(a) 0 (b) 10 (c) any digit       (d) 100

×^ãEõçãXç %eEõ/å^ãEõçãXç %eEõ

55. Number which is divisible by 11 is .............
11 å» ×[ý\öçLî aeFîçä$Oôç ..................
11 ¥çÌ[ýç ×[ý\öçLî aeFîç×»Oô ..........................
(a) 74,396 (b) 45703 (c) 60390 (d) 98498

56. The smallest 4 digit number exactly divisible by 12, 15, 20 and 35 is ............
12, 15, 20 %ç»Ó 35 å» a¶YÉSï»ÖãY ×[ý\öçLî $Jôç×»$Oôç %eEõ ×[ý×`rô %ç$Oôç+TöêEõ a»Ó aeFîçä$Oôç c÷_ ....................
12, 15, 20 A[ýe 35 ¥çÌ[ýç a¶YÉSïÌ[ýÖãY ×[ý\öçLî »Jôç×Ì[ý %eEõ ×[ý×`rô a[ý»Jôç+ãTö æ»K÷ç»Oô aeFîç ........................
(a) 1000 (b) 1160 (c) 1260 (d) None of these

A$OôçC Xc÷Ì̂  /AEõ×»OôC XÌ̂

57. The least whole number is ................
%ç$Oôç+TöêEõ a»Ó YÉSï aeFîçä$Oôç c÷_ ...............
a[ý»Jôç+ãTö æ»K÷ç»Oô aeFîç ........................
(a) 1 (b) 10 (c) 0 (d) Does not exist

Xç+

58. 11
12  x 16

4  x 9
16= .............

(a) 2 1
16 (b) 3

4 (c) 2
8 (d) 9

6

59. The daily consumption of milk of a family is 3 litres. The quantity of milk consumption by the
family during the month of February 2008 is ..........
A$Oôç Y×»Ì ç̂_Eõ éV×XEõ 3×_$Oôç» GçFÝ» _çãG* 2008 $JôX» åZõ[ýÐÓ¾ç»Ý ]çc÷Tö Y×»Ì^ç_ä$OôçEõ YÒãÌ ç̂LX åc÷ç¾ç GçFÝ»» Y×»]çS..........................
AEõ×»Oô Y×Ì[ý[ýçãÌ[ý éV×XEõ 3×_»OôçÌ[ý VÇWý _çãG* 2008 aãXÌ[ý åZõ[ýÐÓÌ̂ çÌ[ýÝ ]çãa Y×Ì[ý[ýçÌ[ý×»OôÌ[ý YÒãÌ̂ çLX c÷CÌ̂ ç VÇãWýÌ[ý Y×Ì[ý]çS .................
(a) 94 litres (b) 94 litres (c) 97 litres (d) None of these

94 ×_ 94 ×_ 97 ×_ A$OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂
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60. If 0.111 is approximately equal to 19 , then approximate value of 0.777 is ............
^×V 0.111 » %ça~ ]çX 19  c÷Ì̂ , åTöãÜ™ö 0.777 » ]çX .....................
^×V 0.111 AÌ[ý %ça~ ]çX 19 c÷Ì̂ , Töã[ý 0.777 AÌ[ý ]çX ........................
(a) 5

9 (b) 7
9 (c) 2

9 (d) 1
9

61. -8-2[6+4{7-(2.8+1.4)}]=.............
(a) -34.4 (b) -42.4 (c) 42.4 (d) 34.4

62. 143.6÷2000=...........
(a) 0.1718 (b) 7.18 (c) 0.718 (d) 0.0718

63. 100-7x1+5 = ..............
(a) (100-7)x(1+5) (b) (100-7)x(1+5) (c) 100-7x(1+5) (d) 100-(7x1)+5

64. The average of 5,0,6,  and 8 is ............
5,0,6,  %ç»Ó 8» GQÍö ......................
5,0,6, A[ýe 8AÌ[ý GQÍö ..................
(a) 1 (b) 2 (c) 3 (d) 4

65. If 37.5% of a number is 450, then 87.5% of the number will be ..........
A$Oôç aeFîç» 37.5% ^×V 450 c÷Ì̂ , åTöãÜ™ö aeFîçä$Oôç» 87.5% » ]çX ...........................*
AEõ×»Oô aeFîçÌ[ý 37.5% ^×V 450 c÷Ì̂ , Töã[ý aeFîç×»OôÌ[ý 87.5% AÌ[ý ]çX ....................*
(a) 825 (b) 1175 (c) 1050 (d) 150

66. A man can cover 12 km in 5 hours. His speed in m/min is ...............
ALX ]çXÇãc÷ 5 H³OôçTö 12 ×Eõ.×] VÇ»±¼ö %×TöyÔ] Eõ×»ã_ ]çXÇc÷LX» å[ýG ×]/×]×X$OôTö c÷[ý ..................
AEõLX ]çXÇb 5 H³OôçÌ̂  12 ×Eõ×] VÉÌ[ý±¼ö %×TöyÔ] Eõ×Ì[ýã_ ]çXÇbLãXÌ[ý G×Töã[ýG ×]/×]×Xä»Oô c÷ã[ý ............
(a) 40 (b) 12

5 (c) 12
60 (d) 1200

60

67. In what time will ®ú 72 become ®ú 81 at 6% per annum simple interst ?
[ý$K÷×» 6% a»_ aÇTöTö ×Eõ]çX ×VXTö 72 $OôEõç 81 $OôEõç c÷[ýêG ?
aÌ[ý_ aÇV [ý»K÷ãÌ[ý 6% c÷'ã_ EõTö×VãX 72 »OôçEõç »81 OôçEõç c÷ã[ý ?
(a) 1 year (b) 2 year (c) 2 year (d) None of these

1 [ý$K÷» / [ý»K÷Ì[ý 2 [ý$K÷» / [ý»K÷Ì[ý 2 [ý$K÷» / [ý»K÷Ì[ý A$OôçC Xc÷Ì̂  / AEõ×$OôC XÌ̂

68. Two sides of a triangle are 7 and 10 units. Which of the following length can be the length of
the third side ?
A$Oôç ×Åy\ÉöL» VÇ$Oôç [ýç§» éVHïî yÔã] 7 %ç»Ó 10 AEõEõ c÷ã_, Tö_» åEõçXä$Oôç ×Åy\ÉöLä$Oôç» TÊöTöÝÌ̂  [ýç§» éVHïî c÷[ý ?
AEõ×»Oô ×Åy\ÉöãLÌ[ý VÇ×»Oô [ýç§Ì[ý éVHïî yÔã] 7 A[ýe 10 AEõEõ c÷ã_ ×Åy\ÇöL×»OôÌ[ý TÊöTöÝÌ̂  [ýç§Ì[ý éVHïî c÷ã[ý .......................
(a) 19 cm (b) 17 cm (c) 13 cm (d) 3 cm

19 æ$K÷.×]. / åa.×] 17 æ$K÷.×]. / åa.×] 13 æ$K÷.×]. / åa.×] 3 æ$K÷.×]. / åa.×]
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69. In a ABC, if A = B+C then A = ...................
^×V a ABC» A = B+C c÷Ì̂ , åTöãÜ™ö A = ..........................................
^×V a ABC AÌ[ý A = B+C c÷Ì̂ , Töã[ý A = ..........................................
(a) 600 (b) 450 (c) 900 (d) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

70. Which of the following has a definite length ?
Tö_» åEõçXä$Oôç» a×PöEõ éVHïî %çä$K÷ ?
XÝä»JôÌ[ý åEõçX×»OôÌ[ý a×PöEõ éVHïî %çä»K÷ ?
(a) Ray (b) Straight line (c) Line segment (d) None of these

»×`½ a»_ å»Fç å»Fç F‰ø A$OôçC Xc÷Ì̂
Ì[ý×`½ aÌ[ý_ åÌ[ýFç åÌ[ýFç F‰ø AEõ×»OôC XÌ̂

71. Area of the shaded region is ..............................
$K÷çã» %ç[ýÊwø %e`» Eõç×_ ........................... [ýGï ×]$Oôç»
»K÷çÌ̂ çÌ̂  %ç[ýÊwø %eã`Ì[ý Eõç×_ ........................... [ýGï×]»OôçÌ[ý*

3m ( )×].

5m ( )×].

8m ( )×].

12m ( )×].

(a) 96 (b) 15 (c) 81 (d) 111
72. When the perimeter and the area of a square are numerically equal, then the numerical value

of its side is ..........................
å^×TöÌ̂ ç [ýGï» Y×»aÝ]ç %ç»Ó Eõç×_ açe×FîEõ \öçã[ý a]çX c÷Ì̂ , åTö×TöÌ̂ ç +Ì̂ ç» [ýç§» açe×FîEõ ]çX c÷[ý ..................
^FX [ýãGïÌ[ý Y×Ì[ýaÝ]ç A[ýe Eõç×_ açe×FîEõ\öçã[ý a]çX, TöFX +c÷çÌ[ý [ýç§Ì[ý açe×FîEõ ]çX c÷ã[ý .......................
(a) 1 (b) 2 (c) 4 (d) 8

73. The breadth of a rectangle is 1
3

rd  of its length. If its perimeter is 64m, its area will be ...................
A$Oôç %çÌ̂ Töãlùy» YÒØšö +Ì̂ ç» éVHïî» %e`* ^×V +Ì̂ ç» Y×»aÝ]ç 64 ×]$Oôç» c÷Ì̂ , åTöãÜ™ö +Ì̂ ç» Eõç×_ ........................
AEõ×»Oô %çÌ̂ TöãlùäyÌ[ý YÒØšö +c÷çÌ[ý éVãHïîÌ[ý %e`* ^×V +c÷çÌ[ý Y×Ì[ýaÝ]ç 64 ×] c÷Ì̂ , Töã[ý +c÷çÌ[ý Eõç×_ ........................*
(a) 64m2 (×]2) (b) 192m2 (×]2) (c) 512m2 (×]2) (d) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

74. Volume of a cuboid with x as length y as breadth and z as height is ...................
A$Oôç %çÌ̂ TöÝÌ̂  HXEõ» éVHïî x, YÒØšö y %ç»Ó =¬JôTöç z c÷ã_, +Ì̂ ç» %çÌ̂ TöX ......................*
AEõ×»Oô %çÌ̂ TöÝÌ̂  HXãEõÌ[ý éVHïî x, YÒØšö y A[ýe =¬JôTöç z c÷ã_, +c÷çÌ[ý %çÌ̂ TöX ......................*

(a)X   xy
     z (b) xyz (c) x+y+z (d) x-(y+z)
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75. 1 cu m = ............................ cu cm
1 HX ×]Oôç» = ............................................ HX æ$K÷×³Oô ×]$Oôç»
1 HX ×]»OôçÌ[ý = ............................................ HX åa×³Oô ×]OôçÌ[ý
(a) 1000 (b) 100 (c) 100000 (d) 10000

General Science / açWýç»S ×[ýpûçX / açWýç»Ì[ýS ×[ýpûçX

76. Terrestrial plants absorb water from .........................
Øšö_L =×àöãV ............................... » Y»ç YçXÝ å`çbS Eõã»*
Øšö_L =×àöV ........................... åUãEõ L_ å`çbX EõãÌ[ý*
(a) Underground (b) atmosphere (c) both a and b (d) None of these

\ÉöG\öÛ [ýçÌ̂ Ç]‰ø_ a %ç»Ó b =\öÌ̂ A$OôçC Xc÷Ì̂
a A[ýe b VÇ×»Oô+ AEõ×»OôC XÌ̂

77. Gills are used for ..................
ZÇõ_ ............................... Tö [ýî¾c÷ç» c÷Ì̂ *
ZÇõ_Eõç ........................................... [ýî[ýc÷çÌ[ý c÷Ì̂ *
(a) photosynthesis (b) respiration (c) absorption (d) conduction

açã_çEõ aeä`ÀbS =`çc÷-×X`çc÷/`Ÿça YÒ̀ Ÿça å`çbS Y×»[ýc÷S / Y×Ì[ý[ýc÷S

78. Feathers are useful for ...........................
Yç×F ......................................» [ýçã[ý =Yã^çGÝ*
Yç_Eõ ............................. AÌ[ý LXî =Yã^çGÝ*
(a) beauty (b) swimming

åaì³V ï̂î açãTöç»ç
açTöçÌ[ý

(c) proper shape through the air while flying (d) to keep the body warm at high altitudes
=»ç» a]Ì̂ Tö [ýçÌ̂ Ç Zõç×_ å^ç¾ç %×Tö =$Jô¬TöçTö `»Ý» G»] Eõ×» »Fç
=QÍöçÌ[ý a]Ì̂  [ýçÌ̂ ÇÌ[ý ]ãWýî ×VãÌ̂  ^çCÌ̂ ç %×Tö =¬JôTöçÌ̂  `Ì[ýÝÌ[ýãEõ GÌ[ý] Ì[ýçFç

79. What happens if seeds are kept under water ?
[ýÝL YçXÝTö ×TöÌ̂ ç+ »ç×Fã_ ×Eõ c÷[ý ?
[ýÝL Lã_ ×\öLçã_ ×Eõ c÷Ì̂  ?
(a) water stops entering into the seed (b) Seeds will germinate

[ýÝLTö YçXÝ åaç]ç[ý åXç¾ç×»[ý [ýÝL %áÇø×»Tö c÷Ì̂
[ýÝãL L_ YÒã[ý` EõÌ[ýãTö YçãÌ[ý Xç [ýÝL %áÇø×Ì[ýTö c÷Ì̂

(c) seeds will not germinate (d) seeds give rise to seedling
[ýÝL %áÇø×»Tö Xc÷Ì̂ [ýÝL GLç×_ê_ »ÖYçÜ™ö» c÷[ý
[ýÝL %áÇø×Ì[ýTö c÷Ì̂  Xç [ýÝL »JôçÌ[ýçãTö Ì[ýÖYçÜ™öÌ[ý c÷Ì̂
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80. The part that grows first in an embryo is .....................
}ÖS A$OôçTö YÒUã] ×[ýEõ×`Tö åc÷ç¾ç %e`ä$Oôç ..........................................
AEõ×»Oô }ÖãX ×[ýEõ×`Tö c÷CÌ̂ ç YÒU] %e` ............................*
(a) radicle (b) plumule (c) cotyledon (d) leaves

\öç[ýÝ]É_ \öç[ýÝEõç‰ø [ýÝLYy YçTö/YçTöç

81. Which of the following is true ?
Tö_» åEõçXä$Oôç aTöî ?
XÝä»JôÌ[ý åEõçX×»Oô aTöî ?
(a) snakes are invertebrates (b) Spider is an insect

açY %ã]»ÓV‰øÝ ]Eõ»ç A×[ýWý YTö†
açY %ã]Ì[ýÓV‰øÝ ]çEõQÍöaç AEõ×»Oô YTö†

(c) All mammals are vertebrates (d) All of these
aEõã_ç Ø™öXîYçÌ̂ Ý å]»ÓV‰øÝ %ç$Oôç+ãEõ+$Oôç
aEõ_ Ø™öXîYçÌ̂ Ý å]Ì[ýÓV‰øÝ a[ýEõÌ^×»Oô

82. An egg-laying mammal is .........................
............................. A×[ýWý EõSÝ Y»ç Ø™öXîYçÌ̂ Ý YÒçSÝ*
................................... AEõ×»Oô ×Qö] YçQÍöç Ø™öXîYçÌ̂ Ý YÒçSÝ*
(a) bat (b) whale (c) dove (d) none of these

[ýçVÇ_Ý / [ýçVÇQÍö ×Tö×]]ç$K÷ EõãYì / HÇHÇ A$OôçC Xc÷Ì̂  / AEõ×»OôC Xç

83. The most common disease in the world is ....................
YÊ×U¾ÝTö a$Jô»ç$Jô» åc÷ç¾ç å[ý]ç»×[ýWý .............................*
YÊ×U[ýÝãTö a[ý»Jôç+ãTö a»JôÌ[ýç»JôÌ[ý c÷CÌ̂ ç åÌ[ýçG .................................*
(a) tuberculosis (b) influenza (c) tooth decay (d) cataract

^©¿ç +XnÇõãÌ̂ tç VÜ™ölùÌ̂ K÷ç×X Y»ç/æJôçãFÌ[ý K÷ç×X

84. The strongest muscles of the human body are found in .................
`»Ý»» %ç$Oôç+TöêEõ a[ý_ åY`Ý ........................................ Tö %çä$K÷*
`Ì[ýÝãÌ[ýÌ[ý a[ý»Jôç+ãTö a[ý_ åY`Ý ......................................... %çä»K÷
(a) Wrist (b) Eyes (c) Jaws (d) Thighs

]×S[ýµù $JôEÇõ c÷XÇ =»Ó
c÷çãTöÌ[ý Eõ‹çãTö æ»JôçãF æ»JôçÌ̂ çã_ =Ì[ýÓãTö

85. Frictional force always opposes ..........................
HbïS ̀ ×NþãÌ̂  aVçÌ̂  .......................... Eõ [ýçWýç ×VãÌ̂ *
HbïS ̀ ×Nþ aVçÌ̂  ................................... åEõ [ýçWýç ×VãÌ̂ *
(a) the state of rest (b) the state of motion (c) both the states (d) none of these

×Øšö» %¾Øšöç G×Tö %¾Øšöç VÇãÌ̂ ç %¾Øšöç A$OôçC Xc÷Ì̂
×ØšöÌ[ý %[ýØšöçãEõ G×Tö %[ýØšöçãEõ VÇ×»Oô %[ýØšöçãEõ AEõ×»OôC XÌ̂
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86. Potential energy increases with the increase in .......................
.................................. » [ýÊ×ˆù c÷ã_ ×Øšö×Tö ̀ ×Nþ [ýÊ×ˆù c÷Ì̂ *
.............................. AÌ[ý [ýÊ×ˆù c÷ã_ ×Øšö×Tö ̀ ×Nþ [ýÊ×ˆù c÷Ì̂ *
(a) work (b) force (c) speed (d) position

Eõç ï̂î [ý_ VÐÓ×Tö / G×Töã[ýG ØšöçX

87. In which situation is no work done ?
åEõçXä$Oôç ålùyTö åEõçãXç Eõç ï̂î Eõ»ç åc÷ç¾ç Xç+ ?
åEõçX ålùäy åEõçX Eõç ï̂ a¶YçVX EõÌ[ýç c÷Ì̂  Xç+ ?
(a) Picking up a book from the floor (b) standing stationary and reading a book

]×LÌ̂ ç» Y»ç ×EõTöçY AFX åTöç_ç ×Øšö» éc÷ ×UÌ̂  åc÷ç¾ç %ç»Ó ×EõTöçY Y$RÍôç
å]ãMõ åUãEõ AEõ×»Oô [ý+ =PöçãXç ×ØšöÌ[ý c÷ãÌ̂  VçQÍöçãXç A[ýe [ý+YQÍöç

(c) carrying the book to the book shelf (d) placing the book on the shelf
×EõTöçYFX %ç_]ç×»ê_ Eõ×$RÍôÌ̂ ç+ ×XÌ̂ ç ×EõTöçYFX %ç_ç]ç×»Tö åUç¾ç
[ý+×»OôãEõ %ç_×]Ì[ýç Y ï̂Ü™ö ×XãÌ̂  ^çCÌ̂ ç [ý+×»OôãEõ %ç_×]Ì[ýçãTö Ì[ýçFç

88. Which of these two temperatures are always the same for any substance ?
×^ãEõçãXç YVçUï» ålùyTö Tö_» åEõçX VÇ$Oôç =bÕTöç AãEõ UçãEõ ?
å^ãEõçãXç YVçãUïÌ[ý ålùäy XÝä»JôÌ[ý åEõçX VÇ+×»Oô =bÕTöç AEõ+ UçãEõ ?
(a) Melting point and freezing point (b) Melting point and boiling point

G_XçeEõ %ç»Ó ×c÷]çeEõ G_XçeEõ %ç»Ó =Tö_çeEõ
G_XçeEõ A[ýe ×c÷]çeEõ G_XçeEõ A[ýe +Tö_çeEõ

(c) Freezing point and boiling point (d) None of these
×c÷]çeEõ %ç»Ó =Tö_çeEõ A$OôçC Xc÷Ì̂
×c÷]çeEõ A[ýe =Tö_çeEõ AEõ×»OôC XÌ̂

89. Which of the following cannot change during a physical change ?
å\öì×TöEõ Y×»[ýTöÛX» ålùyTö Tö_» åEõçXä$Oôç» Y×»[ýTöÛX Xc÷Ì̂  ?
å\öì×TöEõ Y×Ì[ý[ýTöÛãXÌ[ý ålùäy XÝä»JôÌ[ý åEõçX×»OôÌ[ý Y×Ì[ý[ýTöÛX c÷Ì̂  Xç ?
(a) Volume (b) Pressure (c) Chemical Composition (d) Temperature

%çÌ̂ TöX $JôçY »çaçÌ̂ ×XEõ a#ç =bÕTöç
Ì[ýçaçÌ̂ ×XEõ a#ç

90. Which of the following properties is different for solids, liquids and gases ?
Tö_» åEõçXä$Oôç Wý]ï åGç$Oôç, LÇ_ÝÌ̂ ç %ç»Ó åG$K÷» ålùyTö ×\ö~ c÷Ì̂  ?
XÝä»JôÌ[ý åEõçX Wý]ï Eõ×PöX, TöÌ[ý_ A[ýe GîçãaÌ[ý ålùy ×\ö~ c÷Ì̂  ?
(a) Energy exchange (b) Mass of the substance

`×Nþ» ×[ý×X]Ì̂ YVçUï» \ö»
`×NþÌ[ý ×[ý×X]Ì̂ YVçãUïÌ[ý \öÌ[ý

(c) Movement (d) Particle size
%XÇ» a‡ûç_X YVçUï EõSç» %çEõç»
%XÇÌ[ý a‡ûç_X YVçUï EõSçÌ[ý %çEõçÌ[ý
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91. Natural satellite of the earth is completely under the shadow during ............................
.............................. » a]Ì̂ » YÊ×U¾Ý» =YGÐc÷ä$Oôç a¶YÉSï»ÖãY $K÷çã» %ç[ýÊTö UçãEõ*
............................ AÌ[ý a]Ì̂  YÊ×U[ýÝÌ[ý =YGÐc÷×»Oô a¶YÉSï\öçã[ý »K÷çÌ̂ çÌ̂  %ç[ýÊwø UçãEõ*
(a) lunar eclipse (b) solar eclipse (c) any eclipse (d) none of these

$Jô³VÐ GÐc÷S aÉ̂ ï GÐc÷S ×^ãEõçãXç GÐc÷S A$OôçC Xc÷Ì̂
$Jô³VÐ GÐc÷S aÉ̂ ï GÐc÷S å^ãEõçãXç GÐc÷S AEõ×»OôC XÌ̂

92. First satellite was launched by .................... and named as ................
.................... + YÒU]ä$Oôç =YGÐc÷ =dålùYX Eõ×»×$K÷_ %ç»Ó ̂ ç» Xç] %ç×$K÷_ ..........................
......................... YÒU] =YGÐc÷ =dålùYX EõãÌ[ý ̂ çÌ[ý Xç] ×»K÷_ ..........................
(a) Sputnik, Russia (b) Russia, Sputnik (c) America, Sputnik (d) Sputnik, UK

&Ç$Oô×XEõ, »ç×$K÷Ì̂ ç »ç×$K÷Ì̂ ç, &Ç$Oô×XEõ %çã]×»Eõç, &Ç$Oô×XEõ &Ç$Oô×XEõ, +eã_‰ø
&Ç»Oô×XEõ Ì[ýç×`Ì̂ ç Ì[ýç×`Ì̂ ç, &Ç»Oô×XEõ %çã]×Ì[ýEõç, &Ç»Oô×XEõ &Ç»Oô×XEõ, +eã_‰ø

93. The rate of evaporation is affected by ..................
.................................... [ýç¹YÝ\ö¾X» c÷ç» YÒ\öç×¾Tö Eõã»*
............................. [ýç¹YÝ\ö[ýãXÌ[ý c÷çÌ[ý YÒ\öç×[ýTö EõãÌ[ý*
(i) Wind (ii) Temperature

[ýTöçc÷ =bÕTöç
[ýçTöça

(iii) Area of exposed surface (iv) humidity
=X½ÆNþ %e`» Eõç×_ %çVÐTöç
=X½ÆNþ %eã`Ì[ý Eõç×_

(a) i, ii and iv only (b) i, ii and iii only (c) ii, iii and iv only (d) i, ii, iii and iv
i, ii %ç»Ó iv ]çy i, ii %ç»Ó iii ]çy i, iii %ç»Ó iv ]çy i, ii, iii %ç»Ó iv
i, ii A[ýe iv i, ii A[ýe iii i, iii A[ýe iv i, ii, iii A[ýe iv

94. Nutrients present in plants and animals are used again and again with the help of .................
=×àöV %ç»Ó YÒçSÝTö UEõç åYçbEõ VÐ¾îa]Éc÷ ............................ » ac÷çÌ̂ Tö [ýçã» [ýçã» [ýî¾c÷ç» Eõ×»[ý Yç×»*
=×àöV A[ýe YÒçSÝãTö UçEõç åYçbEõ VÐ[ýîm×_  ......................... AÌ[ý ac÷çãÌ̂  [ýçÌ[ý [ýçÌ[ý [ýî[ýc÷çÌ[ý Eõ×Ì[ýãTö Yç×Ì[ý*
(a) consumers (b) decomposers (c) producers (d) man

\ölùEõ ×[ýãÌ^çLEõ =dYçVEõ ]çXÇc÷ / ]çXÇb

95. Major source of water pollution is ................
YçXÝ YÒVÉbS» Hç+ =da éc÷ä$K÷ ..........................
L_ YÒVÉbãXÌ[ý ]É_ =da .........................
(a) heavy metals (b) sewage (c) farm wastes (d) pesticides

GWýÇ» WýçTÇö XVÛ]ç» %ç[ýLÛXç Yç]» [ý×LÛTö VÐ[ýî EõÝOôXç`Eõ
\öçÌ[ýÝ WýçTÇö XVÛ]çÌ[ý %ç[ýLÛXç Zõçã]ïÌ[ý [ý×LÛTö VÐ[ýî EõÝOôXç`Eõ
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96. Brain receives messages through ..........................
]×Ø™ö•õ+ .............................. » ac÷çÌ̂ Tö [ýçTöÛç aeGÐc÷ Eõã»*
]×Ø™ö•õ .................................... AÌ[ý ac÷çãÌ̂  [ýçTöÛç aeGÐc÷ EõãÌ[ý*
(a) motor nerves (b) sensory nerves (c) both 'a' and 'b' (d) none of these

%çpûç[ýçc÷Ý ØoöçÌ̂ Ç aepûç[ýçc÷Ý ØoöçÌ̂ Ç 'a' %ç»Ó 'b' =\öÌ̂ AOôçC Xc÷Ì̂
'a' A[ýe 'b' VÇ×»Oô+ AEõ×»OôC XÌ̂

97. Mass is measured in ....................
\ö»» AEõEõ .........................
\öãÌ[ýÌ[ý AEõEõ .................................
(a) Newtons (b) Kilograms (c) Litres (d) All of these

×X=$OôX ×Eõ_GÐç] ×_$Oôç» / ×_»OôçÌ[ý %ç$Oôç+ãEõ+$Oôç / a[ýEõÌ̂ ×Oô

98. Which of the following is combustible ?
Tö_» åEõçXä$Oôç Vçc÷î ?
XÝä»JôÌ[ý åEõçX×»Oô Vçc÷î ?
(a) Oxygen (b) carbon dioxide (c) hydrogen (d) All of these

%×jãLX Eõç[ýïX Qöç+ %jç+Qö c÷ç+QÎöãLX %ç$Oôç+ãEõ+$Oôç / a[ýEõÌ̂ ×Oô

99. Mechanical advantage of a lever is ......................
×_\öç»» ̂ ç×Ü—öEõ aÇ×[ýWýç éc÷ä$K÷ ...........................
×_\öçãÌ[ýÌ[ý ̂ ç×Ü—öEõ aÇ×[ýWýç c÷_ ...................................
(a) load + effort (b) load x effort (c) load (d) effort

effort load
\öç» + YÒÌ̂ ça \öç» x YÒä$Jôrôç  \öç» / \öç Ì[ý .    YÒÌ̂ ça    .
\öç Ì[ý + YÒÌ̂ ça \öç Ì[ý x YÒä$Jôrôç     YÒÌ̂ ça  \öç» ./ \öç Ì[ý .

100. Which of the following statements about energy is not true ?
Tö_» åEõçXä$Oôç =×Nþ `×Nþ» ålùyTö aTöî Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX =×Nþ `×NþÌ[ý ålùäy aTöî XÌ̂  ?
(a) Energy enables us to do work

`×NþãÌ̂  %ç]çEõ Eõç ï̂î Eõ×»[ýê_ a]Uï ×VãÌ̂
`×Nþ %ç]çãVÌ[ýãEõ EõçL EõÌ[ýãTö aç]Uï å^çGçÌ̂

(b) Energy can not be destroyed
`×Nþ» åEõçãXç ×[ýXç` Xç+*
`×NþÌ[ý åEõçãXç ×[ýXç` Xç+

(c) Green plants get their energy from the sun indirectly
åa=LÝÌ̂ ç =×àöãV aÉ̂ ï» Y»ç Yä»çlù\öçã[ý `×Nþ YçÌ̂
a[ýÇL =×àöV aÉ̂ ï åUãEõ YãÌ[ýçlù\öçã[ý `×Nþ YçÌ̂

(d) Non-living things possess stored energy of their own
LQÍö YVçUïTö a×‡ûTö `×Nþ UçãEõ
LQÍö YVçãUï a×‡ûTö `×Nþ UçãEõ

XXXXXX
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